BARVEMBERS

n Tim has S balloons. E Zac has three different rectangles.

A

Jess has twice as many

balloons as Tim.
< s Il9dcm

26 cm

How many balloons do they

have altogether? Find the length of the shortest
rectangle.




RARVEMBERS

n Three farmers each have some sheep. n Margot has some money.

Carla has 8| fewer sheep than Ade. - She spends 25/ of the money on
Bob has four times as many sheep some clothes.

as Carla. - She spends U0/ of the remaining
They have 487 sheep in total. money oh some food.

She has €54 left.
How many sheep does Ade have?

How much money did she start with?




